
Welcome to 
Geography A-level.
Lesson 1



EDEXCEL A-Level



Exams



Exams
• Types of questions

• Paper 1 and 2 – 1, 2, 4, 6, 8, 12, 20

• Paper 3 – 1, 2, 4, 6, 8, 18, 24



Teachers
• Mr Harris – University of York and University of 

Birmingham

• Miss Robinson – Keele University

• Mrs Goodwin - 



Expectations 
The same for 
staff and 
student

• Respect

• Dedication and hard work

• Confidence



Transition

• What did you enjoy at GCSE Geography?

• What did you find comfortable at GCSE 
Geography?

• What did you find hard at GCSE Geography?

• What do you think transition to an A-level learner 
includes?



My key 
changes to 
an A-level 
learner

• Engagement and interest levels

• Independence (in and out of lessons)

• Confidence and involvement

• Organisation



Note taking
• No spoon feeding!

• You are in control of your knowledge – we will 
facilitate and discuss but you will be in control.

The decline in manufacturing employment in the West Midlands Region of England has been dramatic. This paper 
situates the changes in the economy of the region in the context of the changing international and national economies. 
It is argued that the shift in trading patterns from the old Empire towards Europe and North America made 
manufacturing sectors more vulnerable to competition both in the home market and in the overseas markets. This 
vulnerability has been exacerbated by the high value of sterling at certain crucial periods.
National economic conditions and policies have also had detrimental effects on the regional economy, especially 
demand-management policies, which concentrated on consumer credit. The development of the vehicle sector has 
been disrupted by frequent and sudden changes in credit regulations. In addition to these problems, there is evidence 
that credit and labour-market conditions have both hampered development, and there is some evidence that land 
shortages in the conurbation have been a hindrance.
National government policy towards particular sectors has been applied without major attention being paid to its 
regional impact. Given the high level of integration of the regional economy, shocks to one part of the economy 
transmit themselves rapidly to others.

How many words can we reduce 
this too?



Research and comprehension

Independent research is pivotal to A-level learning
• Sources of information

• Application of information

Rank Source

The Financial Times

Wikipedia

The Environment Agency

The Guardian

Tik Tok

A-Level Geography text book

A documentary

Rank from highest to lowest 
with the highest number 
being the most reliable 
source.



Skills

• Graph

• Analysis

• Maths

• Writing

• Research

These skills are going to be the bed rock of our 
bridging work.



Sixth form 7

Above and beyond the course

• Geofactsheet (All include useful reading and useful websites)

• Newspapers

• Magazines

• Internet pages

• Books

Where do we find our extra work?



Welcome to 
Geography A-level.
Lesson 2



Infrastructure Investment

Success Criteria: 

To understand how infrastructure investment by 
national governments plays a key role in regeneration

EQ3: HOW IS 
REGENERATION 

MANAGED?

INFRASTRUCTURE INVESTMENT (HIGH SPEED RAIL ,  
AIRPORT DEVELOPMENT) IN ORDER TO MAINTAIN 

GROWTH AND IMPROVE ACCESSIBIL ITY TO 
REGENERATE REGIONS.



Starter discussion point

•  How well developed is the transport 
infrastructure in the North East? 

• How does it compare to the rest of the UK?

http://www.nationalrail.co.uk/stations_destinations/maps.aspxhttp://www.sustrans.org.uk/measuring-mapping-transport-poverty

http://www.nationalrail.co.uk/stations_destinations/maps.aspx
http://www.sustrans.org.uk/measuring-mapping-transport-poverty


Infrastructure investment:

• Addressing issues of accessibility is seen as key for 
maintaining economic growth. 

• Infrastructure projects= expensive and longevity (why 
government funding is needed) 

• Since 1980s increasing privatisation and partnerships 
between government and private financers. 

• Private sector- design, build, run/ maintain public sector 
assets in return for long-term payments or profits.  



High Speed Two (HS2) Case study

https://www.youtube.com/watch?v=kPU7i5RaOfU

https://www.youtube.com/watch?v=kPU7i5RaOfU


What is HS2?

• The initial plan is for a new railway line between 
London and the West Midlands carrying 400m-long 
(1,300ft) trains with as many as 1,100 seats per 
train.

• They would operate at speeds of up to 250mph - 
faster than any current operating speed in Europe - 
and would run as often as 14 times per hour in each 
direction.

• This would be followed by a V-shaped second phase 
taking services from Birmingham to Manchester and 
Leeds.

• The Department for Transport says there will be 
almost 15,000 seats an hour on trains between 
London and the cities of Birmingham, Manchester 
and Leeds - treble the current capacity.

http://www.bbc.co.uk/news/uk-16473296

http://interactive-map.hs2.org.uk/

https://www.youtube.com/watch?v=9zVoVk_ua9E
https://www.youtube.com/watch?v=0D9APSdHAnk

http://www.bbc.co.uk/news/uk-16473296
http://interactive-map.hs2.org.uk/
https://www.youtube.com/watch?v=9zVoVk_ua9E
https://www.youtube.com/watch?v=0D9APSdHAnk


Evaluate how government policy of infrastructure 
investment can be used as a tool to access 
regeneration (20 marks)

Rail – HS2 

Road – Smart Motorways

Sky – Airport improvements

Conduct your own research on the 
following 2 examples to help answer the 
above question



Geofactsheet
• 425 – HS2



How do we write a 20 marker?

NO HELP

5 minutes – Plan your 20 mark
 Think how you were told to write a 9 mark in GCSE – what else do you need to do.

Evaluate how government policy of infrastructure investment can be used as a tool to access regeneration (20 marks)



How do we write a 20 marker?

HELP

Paragraphs Content Skills

P1 Introduction

P2 Category 1

P3 Category 2

P4 Category 3

P5 Category 4

P6 Conclusion

Skills

Evidence

Definitions

Evaluation

Explanation

Judgement

Evaluate how government policy of infrastructure investment can be used as a tool to access regeneration (20 marks)

BLT Paragraphs in all of the 4 main body paragraphs
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